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QUESTION NO: 1

You observe that a database performance has degraded over a period of time. While
investigating the reason, you find that the size of the database buffer cache is not large
enough to cache all the needed data blocks. Which advisory component would you refer
to, in order to determine that required size of the database buffer cache?

A. Memory Advisor

B. Segment Advisor

C. SQL Tuning Advisor

D. SQL Access Advisor

E. Automatic Database Diagnostic Monitor (ADDM)

Answer: A

QUESTION NO: 2
Exhibit
SQL> SELECT event, total waits, time waited, time waited micro

2 FROM visystem_euvent
3 WHERE event like %log FileX";

EVEHNT TOTAL _WAITS TIME WAITED TIME WRITED MICRO
log flle sequential read Ik 1 GZZY
log File single write [} 0 1192
log File parallel write 1113 378 27ang0a
log File byptes 75 174 1762957

SOLy SCELECT groupl, menher FROW vilogfile;

GROUPE MEMBER
1 fulifapp/oracleforadataforcl/redoidia.log
1 fultfappjoracleforadataforcl/redoiib. log
¥ fulifappforacleforadataforelfrodoldla.log
2 fullsapp/foracleforadataforcl/redod2b.log
1 Sulfapp/oracle/oradataforcl/redoida. log
¥ fumisapp/oracleforadataforel/redoBdb . 1oy

SOL* SELECT groupd, butes, memhers FROM uSlog:

GROUPE BYTES DUtesgegrs
1 108485740 2
2 1485760 2
¥ 1B4BS7E0 2

In your production database, the total waits and the time waited for log file parallel write
are significantly high. While investigating the reason, you find that there are three redo
log groups with two members in each group, and all redo log members are places on a
single physical disk. What action would you take to minimize the waits?

A. start the log writer slave processes
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B. increase the number of redoes log files

C. increase the size of the redo log buffer

D. place the redo log files on the different disks
E. increase the number of log writer processes

Answer: D

QUESTION NO: 3

One of the tablespaces is read-only in your database. The loss of all control files forced
you to re-create the control file. Which operation do you need to perform after re-creating
the control file and opening the database?

A. drop and re-create the read-only tablespaces

B. rename the read-only data files to their correct file names

C. change the tablespace status from read/write to read-only

D. re-create the read-only tablespace because it is automatically removed

Answer: B

QUESTION NO: 4

You have set some of the initialization parameters as:
DB _BLOCK_SIZE = 8KB

SGA_MAX_SIZE = 2GB

SGA_TARGET =0

SHARED_POOL_SIZE = 120MB
DB_CACHE_SIZE = 896MB
STREAM_POOL_SIZE=0

LARGE_POOL_SIZE =110 MB

Which two statements are correct? (Choose two.)

A. You cannot set a value for the DB_8K_ CACHE_SIZE parameter.

B. If you increase the size of the large pool to 120 MB, then the memory allocated to the
shared poll will be reduced to 110 MB.

C. If the value for SGA_TARGET is changed to 1 GB and SHARED_ POOL_SIZE is set
to 120 MB, then memory cannot be taken from the shared pool, even if the shared pool
has free space available.

D. If an application attempts to allocate more than 120 MB from the shared pool and free
space is available in the buffer pool, then the free space from the buffer pool is allocated
to the shared pool.

Answer: AC
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QUESTION NO: 5

You are performing a block media recovery on the tools01.dbf data file in the SALES
database using RMAN. Which two statements are correct in this scenario? (Choose two.)

A. You must ensure that the SALES database is mounted or open.

B. You must restore a backup control file to perform a block media recovery.

C. You must take the tools01.dbf data file offline before you start a block media
recovery.

D. You must put the database in NOARCHIVELOG mode to perform a block media
recovery.

E. You can perform only a complete media recovery of individual blocks, point-in-time
recovery of individual data blocks is not supported.

Answer: AE

QUESTION NO: 6
Exhibit

HOM ALl

RHaH Configuration arameters are:

CONFIGURE RETERTION POLICY 7O REDUNDAMCY 1; 8 default

CONFIGURE BACHUP OPTIMIZATION OFF; 8 default

CONFLGURE DEFRULT DEVICE TYFPE TO BISK; B default

CONFIGERE CONTROLFILE AUIOBACKHP OFF; 8 default

CONFIGURE CONTROLFILE AUTOBACKUE FORMAT FOR DEUICE TYFE DIEK TO "wF': B default

CONFIGURE DEUVICE TYPE DISK PARBLLELISH 1 BRCKUP TYPE TO BACKUPSET; 8 default

CONFIGURE DATAFILE BRCKUF COPIES FOR DEVIGE TYPE DISK 7O 15 B default
= ARCHIVELOG BACKHP COPIES FOR DEUICE TYPE DISK TO 1i: 8 defanlt

E CHAMNEL DEUICE IYPE DISK FORMAT t s homesorac Jesbachupocll . bkp® §
CONFIGURE MAXSETSIZE TO UMLINITED; B default
CONPIGURE aRCHIVELOG BELETION POLICY TO MOME: # default
CONFIGURE SHAPSHOT CONIROLFILE HANE 10 *Aulll - approracle product-18.1 -8-dh_i1-/dbhs~
shapcf _orcl.f'; B default

REAN >

You executed the following command to perform a backup of the USERS tablespace:
RMAN > BACKUP TABLESPACE USERS;
Which type of backup would this command perform?

A. backup set

B. image copy

C. incremental backup

D. None; the user receives an error indicating that the backup type must be specified.

Answer: A

QUESTION NO: 7
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In your database, online redo log files are multiplexed and one of the members in a group
is lost due to media failure?
How would you recover the lost redo log member?

A. import the database from the last export

B. restore all the members in the group from the last backup

C. drop the lost member from the database and then add a new member to the group

D. restore all the database files from the backup and then perform a complete recovery

E. restore all the database files from the backup and then perform an incomplete recovery

Answer: C

QUESTION NO: 8

You are using Oracle Database 10g. Which statement regarding an incomplete recovery
is true?

A. You do not need to restore all the data files.

B. You do not need to open the database with the RESETLOGS operation

C. You do not need to perform a full backup after the RESETLOGS operation.

D. You do not need to recover all the data files to the same system change number
(SCN).

Answer: C

QUESTION NO: 9
Exhibit
Edit Resource Plan: SYSTEM_PLAN

Ganaral
Flan SYSTEM PLAN

Dier s iF aft 10 e Systarn Sessne pronly

Attrvati tas plan: 7

Selected Groups/Subplans

e

Growp S aliplan 1 L il li Lol 7 Liewad 3] Levwil 44 Lisyai 5; 1 gl Ei Lt 7 i !NH|UHE
LOW GROUP [10 b jtoo I P P h &
CITHER GROLPS i jio [ T 9] b o [
BYS GROUR foc] p 7] 3 7 b 7 b

View the Exhibit and examine the Resource Manager settings for the groups at different
levels. Which two effects would be the result of this setting? (Choose two.)
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A. The members of LOW_GROUP would get more priority than those of
OTHER_GROUPS.

B. The members of SYS_GROUP would get most of the CPU allocation at level 1.

C. The members of LOW_GROUP would get most of the CPU allocation because it has
CPU allocation at two different levels.

D. The members of LOW_GROUP would get no CPU allocation at levell if the members
of OTHER_GROUPS are using all the CPU at level 2.

E. The members of SYS_GROUP would get no CPU allocation at level 1 if the members
of OTHER_GROUPS are using all the CPU at level 2.

Answer: AB

QUESTION NO: 10

The current time zone for one of the user sessions is set to the database local time zone.
For one application, the user session requires the time zone to be set to the local operating
system time zone without affecting other user sessions. Which two solutions could the
user implement to achieve this objective? (Choose two.)

A. use the ALTER SYSTEM command to change the time zone

B. use the ALTER SESSION command to change the time zone

C. use the ALTER DATABASE command to change the time zone

D. set the value for the operating system variable ORA_SDTZ on the client machine
E. set the value for the operating system variable ORA_SDTZ on the database server
machine

Answer: BD

QUESTION NO: 11

You work as a database administrator at Pass4sures.com. Your database is open and
running in ARCHIVELOGmMmode. You take RMANfull backups every Sunday night. On
Monday morning, while querying the userl.employeestable, you receive the following
error message:

01578: ORACLE data block corrupted (file # 5, block # 51) ORA-01110: data file 5:
'fu01/app/oracle/oradata/orcl/example01.dbf’

You need to rectify the corruption while ensuring the following:

The data file should remain online

The mean time to recover (MTTR) should be minimal. You are not using a backup
control file and all the archived logs are accessible.

Which option would you choose?

A. flash back the corrupted blocks
B. use the DBMS_REPAIR package
C. use the RMAN TSPITR command
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D. use the RMAN BLOCKRECOVER command

E. use the RESTORE DATABASE and RECOVER DATABASE commands

F. investigate the time at which the corruption occurred and perform a point-in-time
recovery

Answer: D

QUESTION NO: 12

You are working on an Oracle Database 10g database. You enabled the Flashback
Database feature. Which two statements regarding flashback logs are true? (Choose two.)

A. Flashback logs are not archived.

B. Flashback logs are maintained in redo log files.

C. Flashback logs are maintained in the Flash Recovery Area.

D. Flashback logs are used to maintain Flashback Database related errors.

E. Flashback logs need to be cleared manually after you disable Flashback Database.

Answer: AC

QUESTION NO: 13

You executed the following query:

SELECT operation, undo_sql, table_name

FROM flashback_transaction_query;

Which statement is correct regarding the query output?

A. It would return information regarding only the last committed transaction.

B. It would return only the active transactions in all the undo segments in the database.
C. It would return only the committed transactions in all the undo segments in the
database.

D. It would return both active and committed transactions in all the undo segments in the
database.

E. It would return information regarding the transactions that began and were committed
in the last 30 minutes.

Answer: D

QUESTION NO: 14

Consider the following configuration:

/devices/D1is a member of disk group dgroupA.
/devices/D2is a member of disk group dgroupA.
/devices/D3is a member of disk group dgroupA.
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You plan to add a new disk, /devices/D4,to the disk group dgroupA.

You execute the following command:

SQL> ALTER DISKGROUP dgroupA ADD DISK '/devices/D*'; which task would be
accomplished by the command?

A. The command adds the new disk, D4, to the disk group.

B. The command would result in an error because the is no disk by the name
"/devices/D*"

C. The command will be ignored because disks starting with "D" are already members of
the disk group.

D. The command would result in an error because no wildcard characters can be used in
the disk name.

E. The command first detaches all the member disks starting with *D", and the reattaches
them including the new disk.

Answer: A

QUESTION NO: 15

You work as a database administrator at Pass4sures.com. In your production database
there is a job, CALC_STAT, which has been scheduled to run every Friday at 5.00 p.m.
CALC_STATupdates the optimizer statistics for the objects owned by the APPSschemA.
You want the task to be generic, thereby allowing users to modify the attributes of the
task at run time without affecting the original task. Which component of Oracle
Scheduler must you define to achieve this?

A. Window
B. Program
C. Job class
D. Window group

Answer: B

QUESTION NO: 16

Immediately after adding a new disk to or removing an existing disk from an Automatic
Storage Management (ASM) instance, you find that the performance of the database
decreases initially, until the addition or removal process is completed. Performance then
gradually returns to normal levels. Which two activities could you perform to maintain a
consistent performance of the database while adding or removing disks? (Choose two.)

A. increase the number of checkpoint processes

B. define the POWER option while adding or removing the disks

C. increase the number of DBWR processes by setting up a higher value for
DB_WRITER_PROCESSES

D. increase the number of slave database writer processes by setting up a higher value for
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DBWR_I0_SLAVES
E. increase the number of ASM Rebalance processes by setting up a higher value for
ASM_POWER_LIMIT during the disk addition or removal

Answer: BE

QUESTION NO: 17

The current time is 12:00 noon. You want to recover the USERS tablespace from a
failure that occurred at 11:50 A.m. You discover that the only member of an unachieved
redo log group containing information from 11:40 A.m. onwards is corrupt. With
reference to this scenario, if you are not using Recovery Manager (RMAN), which
recovery method would you use?

A. time-based recovery

B. log sequence recovery
C. cancel-based recovery
D. change-based recovery

Answer: C

QUESTION NO: 18

You lost the PRODSTD tablespace, which was read/write. The tablespace was read-only
when the last backup was performed. How would you recover the tablespace?

A. restore the tablespace from the backup; there is no need to apply the redo information
B. restore the full database to recover the data up to the point when you performed the
backup

C. restore the tablespace from the backup and then perform a recovery using the backup
control file

D. restore the tablespace from the backup and then recover the tablespace; all the redo
information from the point when the tablespace was made read/write is applied

Answer: D

QUESTION NO: 19

You are using an Automatic Storage Management (ASM) instance to manage the files of
your production database. You have two disk groups, DGland DG2with one device each.
In the parameter file of the production database, the following parameters have been
specified:

DB_CREATE_ONLINE_LOG_DEST 1 ='+dgl'
DB_CREATE_ONLINE_LOG_DEST_2 ='+dg2'
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What would be the impact of this setting?

A. When a new log group is added, it would have one member in each disk group.

B. When a new log group is added, it would have two members in each disk group.
C. When a new table space is added, it would have one data file in each disk group.
D. When a new log file is added, it would have one member spread across the disk
groups.

Answer: A

QUESTION NO: 20

An RMAN backup job fails, displaying the following error:

ORA-19809: limit exceeded for recovery files

Your analysis shows that the Flash Recovery area is full. Which two actions could you
take to resolve the error and avoid this error in the future? (Choose two.)

A. takes the backup of the flash recovery area less frequently

B. increase the value of the UNDO_RETENTION initialization parameter

C. change the value of the WORKAREA_SIZE_POLICY initialization parameter to
AUTO

D. change the backup retention policy to retain the backups for a smaller period of time
E. increase the value of the DB_ RECOVERY _FILE_DEST_SIZE initialization
parameter

F. increase the value of the CONTROL_FILE RECORD_KEEP_TIME initialization
parameter

Answer: DE

QUESTION NO: 21

Your database operates in
ARCHIVELO Gmode. User-managed consistent backups are performed every Sunday
night.

On Tuesday, client A drops a table at 8:00 A.m. as follows:
SQL> DROP TABLE cust_ord PURGE;
Table dropped.

Client B executes a query at 9:00 A.m. on the same table as follows:
SQL> SELECT * FROM cust_ord;

SELECT * FROM cust_ord

*

ERROR at line 1:

ORA-00942: table or view does not exist
Client B needs the dropped table and reports the problem to you.
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